P2
D H4- Bg 8 0_0 4 INSTRUCTION MANUAL

BEFREARDGSY IS (LRODHBRER
CORAEERATIS. BREZERATEL,
ORI, HERLEICTICRYHEHBAHIC. RELTIEE,
ELECTRONIC EYELET BUTTON HOLER (WITH UPPER THREAD NIPPER DEVICE)

Please read this manual before using the machine.
Please keep this manual within easy reach for quick reference.




BH:X~ CONTENTS

( E#BB#REREE, PARTS NAME AND FUNGTION )- - - - - - - - - i
B bRodikET WA~ Before using the upper thread nipper + « « - - + - 2
@&ﬂaﬁrjljﬁ / INSTALLAT|0|\D ...................... 3
1] EfkodA#.” Upperthread nipperassembly + + » = « ¢ = + « « ¢ o v o v v o o 3
2] =7 —F—ADHEB. Connectingtheairhoses + » -« + = ¢« v 00 v v v 00w 4
(3] &tmE % S — D3, Replacing the driving needle guardcovers » = « « + + - - « + 5
@ Ekipz o Upper thread Presser + « = + » s r s s s e s s e st e 0 e e e e e 5
(ﬁa@iﬁ L5 THREADING THE THREAD) -------------- 8
[REFfrcEaENIS R

[How to use upper thread nipper device differently depending on different
sewing condition]

C*%ﬁ?ﬁg/ STANDARD ADJUSTMENTS) -------------- 7
00 MAfFHFAEFNE Adjusting the installation position + « « =+ « + + « ¢+« . .. 7
2] &odADKELNERE  Adjusting the lateral position of the thread nipper + « - - » - - 7
3] REVifdOREHA B R Adjusting the sewing start reference line position + + « - - 8
4] F&od»AO ELTH.EFRE, Adjusting the thread nipper up-down position+ - + « - » « 8
(5] #tv#b b oEAE N Adjusting the sewing end reference line position -+ « - -
(6] oW AEHRAML S — (Bal) OFENLAERE
(6] Adjustingthebypasspositionfor thethread nipper guide pawl lever {cam plate)
| 7 fodADP&EOFE, Adjusting the thread nipper opening amount + =+ » + « + + 10
} FROPHEERML A - (AL OFSHE 11
| Adjustingthe height of the thread nipper guide pawl lever{cam plate)
4RI OF S #E 7 Adjusting the height of the upper thread presser = » + + + « - 11
FEREEDNL 2P 2DOWE
Adjustment of upper thread pulling out and tension releasing 12
(FEIE— Fofivh,/ Usingthe manualmode) + + » = = =« « + « + = o o o o v - - 14

Q \—YUZ I~/ PARTS LIST)

Mndel Nn DHA_RORMO01



CORNBEZIABFAEOFHE LTRELTE) $70T, RFEINIABINAEL IBRB 230,

The explanations in this instruction manual are designed to be used as a supplement to the main instruction
manual. Please refer to the other instruction manual for items which are not contained in this manual.

(BBp&H& 8~ PARTS NAME AND FUNCTION )

(" ™
1
—0
9
3
7
\.. J
Q@ Lo hH - @Upper thread nipper assembly
@L TV Yy¥FEFRL @Up-down cylinder installation screw
O N R L ©Instaliation screw
QR #Eb B AR ERENT OSewing end reference line adjustment screw
O MAHArE b JHRER L @\nstallation positioning screw
16 F3ab P ©OThread nipper
Q@ FOoPAENML = (A AR) @Thread nipper guide pawl lever {(cam plate)
OHREL - ©Opening lever
O ForAMHEIREARL ©Thread nipper opening adjustment screw
QO ERfr B ¥ OReference line position changeover cylinder
OEEF> b+ - :  PFixing nut - :

C@HROPARNIRL A (B DK Okd
b

PRV BOERTERELRL

QRAMRL A—DESHELAL

ProPALETII 5

SUALE R

PBypass position adjustment screw for thread nipper
guide pawl lever (cam plate)

PSewing start reference line adjustment screw

OGuide lever pawl height adjustment screw

®Thread nipper up-down cylinder

—1— Model No.DH4-B980-04



B ROobHiRBER CERDRIIC - Before using the upper thread nipper
A 1B% DANGER

o BIHR Yy Y ADHN—EMIT IR EHETFBRRA S v FEYD BEISITEHNT. FOHRE S
A BT > THSAN—-ZRFTLEZL. BRESZICAIND L. KFHETITEHBLET,

A * Wait at least 5 minutes after turning off the power switch and disconnecting the power cord from
the wall oultet before opening the face plate of the control box. Touching areas where high
voltages are present can result in severe injury.

O
55 2
3
=95

ol | 4=

EYELET (C.E,F)
D1

1. PROM ®75— 3 g » R
Iy PT—NVERy 7 ANOPROMOPDS—-T a3 A [D1]UKEIZESTWAEZ L EHEL TS0,
N—TarMN[D1] ARSI, ERoPAEEIEE L EFHAOT,. PROMBAELEZEZ T
3y,

2. FAvTAL v FORE
FA v TAL v FEEFEZONIZLTLAES 0,

3. BEVWEXH3I0mmP EDRE. EAobaPEREONFLWIEFBDE T, ZOEFITE. 1y

T4 9 F5FLZOFFICLEROPAZEBHSELNT S v,

1. Checking the P-ROM version
Check that the version of the P-ROM @ inside the control box is given as "D1"or later. If the P-ROM is
of an earlier version than "D1", the upper thread nipper will not operate. In this case you will need to
replace the P-ROM.
2. DIP switch setting
DIP switch No. 5 should be set to ON.
3. Incase sewing length is more than 39 mm, there is.the case that upper thread nipper does not catch
upper thread. Hence, in such a case, please set dip'switch no. 5 to "off" and not operate upper thread

nipper.

—2— Muodel No.DH4-B980-04



(#1375, INSTALLATION )

A\ = CAUTION

o ERDBHCERR 1 wF &b, BHISHTERNTLIEXL,
ROTCRI— Ay FERBDE, SV UHERULTIIDOEREKDET,

c * Turn off the power switch before starting installation, otherwise the machine may operate if the start
switch is depressed by mistake, which could result in injury.

A7V a e LDTERINITERDYEIT. AR I THMEO FEAMPTRESL LTSy,
If installing later as an option, read the following information thoroughly before carrying out the installation and
the adjustments.

1] _t%DhHh@#8.~ Upper thread nipper assembly

~

1. TA4A—=F, $E#EHH A —-2WOANLET,
2, HRH R LOHMW 2 A2 LT,
3. Lhkoha#fl@%, AFKLE (5 x16) @THDY
iy ¥4,
REDF NGV ERODEAFLALLOD LR Z
T AN IS T TR DN 9,
(FRERE DA UERE] 28)

1. Remove the eye guard and the driving needle
guard cover.

2. Remove the two screws at the right side of the
face plate.

3. Install the upper thread nipper @ with the bolts
(5x16) .

p. * Install so that the end of the installation posi-

tioning screw @ is touching the end of the arm at

this time. (Refer to [[1] Adjusting the installation

position | of "Standard adjustments”)

—3— Model No.DH4-BY§0-04




2] I7P—ihr—XDE#H, Connecting the air hoses

A ;= CAUTION

A o TP HE@EOIF—F 12— "L, EFEOEHE (0] ICUTLEEL,

C s Disconnect the air hoses from the air supply and wait for the needle on the pressure gauge to

drop to "0".

M

N A A

VL4 FALTH (458 DR ERIAL. HEORFO ZHOMITET,

L7 —FR—ZABEOESOBBNT, SV 7HEOEARRLOCR)TF—TATHERICRY T 5. ,
EOPAEOLT —k— AR, B &N T No. 6~ LT —F—RAE &SNV TNo. T ~NELXELBAAET, =
HBOSVTA—3A@ (I5P) #av ba—NKy 7 203k 5@ (15P) ~E LA, VTR 7

Y[ &SNV T No. 6~ SUTIR7 ¥— [T %750 T No. T~FALAELRATT,

Remove the four or five plugs @ of the solenoid valve assembly, and then instali the accessory joint @.
Install the valve assembly @ to the bottom of the work table with the two wood screws O so that the air
hose 28 can still reach.

Connect the air hoses and 28 of the upper thread nipper assembly to the valve No. 6, and con-
nect air hose [& to valve No. 7.

Connect the accessory valve harmess @ (15-pin) to the control box connector @ (15-pin}, and then
connect valve connector '8! into valve No. 6 and valve connector {7] into valve No. 7.

—4 — Model No.DH4-B980-04



3] #EENHIN—DATHR, Replacing the driving needle guard cover

.
1., 74 ¥ H—H—Fe#HES A —P0RIAL. NBROSHE) S - AQITHATITET,
2. SEBHISA-AQLETAF—FOZ, KV} @, HRALO TWYHiFET,

3. $tE#EANS—-BOE. KV O TERIFITET,

1. Remove the finger guard from the driving needle guard cover, and then install it to the accessory driving
needle guard cover A @.

2. Install the driving needle guard cover A @ and the eye guard @ with the bolts @ and the screws @.

3. Install the driving needle guard cover B @ with the boits ©.

4] _LSR#X_~ Upper thread presser

1. #ihL@2Y50T, RENOTMOIALET,
2. LA OFHAL QO T ET,

1. Loosen the screw @ and remove the thread guide .
2. Install the upper thread presser @ with the screw

L1 ]

— o Model No.DH4-B980-04



(% ®D&L7. THREADING THE THREAD )

FPRAAFEOTHRERISLEIICLTERAZBLET.

* EARMAEEAREZR/FL.ARNCTIEHEREDE
ZH<WEZLE T, Fo0hn, LR HIOIWIT
LT, ERobAFEEREDPALITRT L
Zh T,

* MBEAICIY LAMHAHO ZEHEVEVWESD
B ET((RRREMIZIZBEGITH) BE)

Thread the upper thread so that it is clamped by the upper thread presser plate 0.
* The upper thread presser hold the upper thread in order to prevent it being pulled out from the material.
Because of this, it becomes easier to pull the thread out of the material, and the thread nipper can clamp

the upper thread more easily.

* Depending on sewing condition, there is the case that upper thread presser piate @ is not used. (Please
refer to “How to use upper thread nipper on different sewing condition device differently depending”.)

(FEBesRAFIC & BENSITI)

~,

1. ROBEHFITEK, LAFIAKO@EFHLENTH
*BELIT,
© =00, —014EBRT, EARBL (ZEHM) 2E
LB (F4 o724 v+ hiz)
- =02, — 124E8T AT D fEBIRRIC ki
W HHEITT. ERoPATI L 29Dl
2. ERBOBIE, BRTFHOOEDNZ2>TARLE
O TRELET,

[How to use upper thread nipper device differently depending on different sewing condition]

* When upper thread tail of material side was set long on -00/-01 specification by switchover of dip switch or
when upper thread tail comes off the material and upper thread tail cannot be nipped by upper thread nipper
properly on -02/-12 specification, even if upper thread trimming is made,

1. Inthese cases, please make threading not using upper thread presser plate €.

2. As for upper thread remaining amount, please adjust by adjusting tension of sub-tension @ with screw ©.

—5 — Model Mo.DHA-B980-04



(=5, STANDARD ADJUSTMENTS )

(]

(

@ #2mm/Approx.2 mm

N

tHHP T IEEE, Adjusting the installation position

BASAEE b R CQDOERDTT — A BE TNz -
72l EROPATZOLT —ABWEOT X R
2mmilzB L3, WA LOTHEL, BMEHTF»
FOEROMRITET.

Turn the installation positioning screw @ to adjust so
that there is a clearance of approximately 2 mm be-
tween the upper thread nipper support @ and the end
of the arm when the end of the screw @ is touching the
end of the arm, and then secure it by tightening the
fixing nut ©.

e S

2] %#ObhHOEGIIEHREE ~ Adjusting the lateral position of the thread nipper
4 ~
\

S

BEORHAERIIBVTR., BRVWIHHONMEBE@ (GH) LWLV OME® (EH) T, £4 58000
FhhIEd, 2O0DI0. COLEOPAEEBEIZBWTH, EHUERAI ) XY O EARATATVE T,

For normal eyelet buttonholes, the reference lines for the sewing start position @ (right side) and the sewing
end position B (left side} are different from each other. Because of this, the upper thread nipper is equipped with
a reference line position changeover cylinder €.

— 7 — Model No.DH4-B980-04



B, M OREZ2ITE2I L &X, [FHE—-FOMFEVE] (P14) ©1.~3. 2k I2iT4H-oTL 3w,
Carry out steps 1. to 3. in "Using the manual mode" on page 14 before carrying out adjustments (3] and [4].

3] f#ELRHOBRRUERE |
[3] Adjusting the sewing start reference line position -
' :

~\
A=
@/ T
I L
iR .
\_ Zigzag Stitch y

1, BV ETRI ) Y@ X ONDORBICR-TwAZ E2HRELE T,
2. $HRIBOHREHOPAXBHFRE@ P -HTHLHIC, WELRLO. FEFy rOTRAELIT T,

% ERRMEFICHERLOOERE LRAOPAZLZOQILTEIXF L Lo BEICE, RELLO LW

LZOTHBLTLZSn,

ER) ERMEARICROIT2HE, R o0AOMEIRVRO LRVEDY TRICIE 25 L) KRBT S
PEXFHLITOT, L2 2l ERE, RAELRLQOENE LAODPALZ @Y TTEHDOMHITIZESn,
1. Check that the reference line position changeover cylinder € is on.
2. Use the adjustment screw @ and the fixing nut @ to adjust so that the center of the zigzag stitch is aligned

with the center @ of the front edge of the thread nipper.
* While above adjustment is done, if there was no clearance between the end of the adjustment screw @@

and the upper thread clamp support @, loosen the adjustment screw @ and make adjustment.

Note; If installing to a machine with straight bar tack specification, it will be necessary to adjust so that the
position of the thread nipper so that it is the same at both the sewing start and the sewing end. Therefore,
after carrying out the adjustment in step 2. above, tighten the adjustment screw @ until its end touches
the upper thread clamp support @.

4] HRObhFHDOLTHLIEHEE, ~Adjusting the thread nipper up-down position

4 ) ‘. )

(7]
T

=)y

o J
RCIEDOERMEIZB VT, o2 ARTHRBICERO THO LHE L@ & o~ kd55mm ik b k5
2. B L THELET, :

MEMOESIZE Y ZOFTHETRAZVEFCR, EHCEbETEIEREBL TS Y,

Turn the screw @ to adjust so that the distance from the bottom € of the thread nipper to the top @ of the needle

plate is 5.5 mm when the thread nipper is lowered at the sewing start reference line position.
* |f this distance is too smali because thick material is being sewn, adjust the height to suit the thickness of

the material.

— 88— Model No.DH4-B980-04



B ORELTES L &R, [FHE-FOEWK] (P14) 04 ~6 2ERTE-TLHES N,
Carry out steps 4.to 6.in "Using the manual mode" on page 14 before carrying out adjustment {8].

(5] $ELMEDD OEFIIEHEE

[6] Adjusting the sewing end reference line position
s “\

—~5/ Aligned
>y

L.

1. FHE— FTHROPAVEET 2R ECRBIS &, ERVETHRY ) VYO FOFFORBIC LTV A
CEERMRAL TS v,

2, $HRIEDOIMED L H0o»A @ OHNAN—HTH LI, REALO, EEFy PO THELIT,
MBI RORE. TRV HRDOERMUENRE) O #BHEL TS,

1. Operate the machine in manual mode until the point where the thread nipper operates, and then check that
the reference line position changeover cylinder € is turned off.
2. Use the adjustment screw @ and the fixing nut € to adjust so that the outside of the zigzag stitch is aligned
with the inside of the front edge of the thread nipper @®.
* For straight bar tack specifications, refer to the note given in ‘(3] Adjusting the sewing start reference
line position".

B HRODFEAMUIN— (ALK) O UAIERE
6] Adjustingthebypass positionfor the thread nipper guide pawl lever
f {(cam plate) ‘ Ny
0.3-0.5 MM —= '_.,
I /—‘9
N\
A

;ﬁﬁ%’\ BUBONEILB VT ERNBEDEY Y ¥R ONOKE)  BRML A= (H2RK) @LRELA—
Q@OMEE. HOLICHEL A~ QRENRL S — QDRI ZEEL, T XA 03~05mmiZ% % L)1
HRALOTAEBLIT,

Ko OWBEFECBESITIE. BUBHICAROPAR TRT S LXCHRENARRITHEZEFHD T,
Tumn the screw @ to adjust so that the opening lever @ always passes behind the guide pawl lever (cam plate)
@ at the sewing start position (when the reference position changeover cylinder is on}, and so that there is a
clearance of 0.3 - 0.5mm as shown in the illustration.

# If this adjustment is not correct, the thread nipper may open at the sewing start, which can cause the thread

to pulf out.

—g— Model No. DH4-B980-04



7] OO FHFORF=DFEEE.~Adjusting the thread nipper opening amount
4 ™

©

)

—5i/Aligned |

. LT —ZHEET,

. FOBRAOETIT, ZOoPARAMLA—DA 2RO IRE L - @ 2T o 1M, ROorR QD%
WA E T,

COROHEEZAELLO THEL T,

RODH B DREATBER B L 22rACOEHAEAN—HTAH LI, HERELHABLT T,

Bleed the air.

The end of the thread nipper @ will open when the thread nipper @ drops until the opening lever € sits on
the cam plate @ of the thread nipper guide'bawl lever.

Turn the adjustment screw € to adjust the opening amount at this time.

4. Adjust the opening amount so that the edge ®) of the thread guide of thread nipper @ is aligned with the right
edge of thread nipper ©.

By

S

@

— 10— Model No.DH4-B980-04



FODFEAMLUIN— (DLF) OBXHER
Adjustingthe height of the thread nipper guide pawl lever(cam plate)
p

- Y
®os5mm | K = &° S

oy

Approx.0.5 mm } ":] 1

. T —EHEET.

2. %:2ohh @ TFTRITTIFZE, AOPAEANL A A-Q DK 2R THEME L Y— @ @ LTI,
FOSMm DT EMETREITAIIIC, E3WBERCLOTHELE Y.

1. Bleed the air.

2. Turn the height adjustment screw @ to adjust so that there is a clearance of approximately 0.5 mm between

the lower surface of the cam plate of the thread nipper guide pawl lever @ and the top of the opening lever

© when the thread nipper guide pawl lever (cam plate)

8] LA OETTHEE Adjusting the height of the upper thread presser

s ™~

. S

FREDLA— @A THICE AL E, LAHAROZERTAOIHEZ2THLZ, WRLOTH
SEABLIT. :

Turn the screw @ to adjust the height so that the upper thread presser plate @ is pressing against the upper
thread presser @ when the upper thread take-up lever @ is fully lowered.

— 11— Model No.DH4-BYSG-04



LHREEOHUERD DO DR

Adjustment of upper thread pulling out & tension releasing

* EARBRYMLIE. RUBDTHESRCAZBRT S 2OICLEL EAREZRETILEND ) 2T,
* ERIY LA—ERARDY LRFICABL. R ¥ — b AL vy FAMSHTREY AIERD Sho ke

mERENnE T,

Pulling out of upper thread is necessary to secure necessary upper thread amount in order to make firm
seam at start of sewing.

Upper thread take-up lever works at finish of sewing and this work is released when start switch is pressed
and empty feeding is made on feed base.

\.

J

LARTFRHITET V¥ a YiZBoT0ET, MR TH, TRTHOEEIN, 25— PR v F S
NTEVEFEXY) BB LARCABORE T, ‘

c ERWEOHO E LRI LoA— 3B L THEHL £3.
- ARTFHOQRFEICHLOATEY, LAWY LHEOBE, FRZEIRS5LTWET,

CORGEIMHDIZBITE LR BICHEL RIZLET.

cBVCHRDO 1B, T EARDVALESHES R, RISSHEREBMEBIhLZES, BVWEIBRSh

7o

s FEIE—F~Ph®ZTLHEE Y, (PI4BIR)

LW - 2 FENCE L RYS 1$tHOMWHBEERREL TS v,

Upper thread tension is becoming double tension. When sewing finished, main tension € is open and when
start switch is pressed/empty feeding is made on feed base, main tension is closed.

Upper thread tension release plate @ and upper thread take-up lever works together.

Sub-tension € is always closed and when upper thread trimming is made, sub-tension is giving tension to
upper thread (this tension effects on upper thread remaining amount at start of sewing.

» On first stitch of sewing start, upper thread pulling amount is consumed first and next, upper thread remaining

amount is consumed and seam is formed.
Change to manual mode. (Refer to page 14.)
By turning upper shaft pulley to front side, please make sure seam formation of first stitch.

— 12— Model No.XH4-B980-04



A, HimEEOBORASEAFEDIBS GEY. #XATELFERLET.)
A. Incase of sewing upper thread tail into seam (this kind of use is normally done in case of rear knife},
- N

&

i/ Upper thread tail HLyv/short

\. »

LSt HORGEERE. FRodRIC Lo T EAE BN SR A TORIFIIEE Y 24 A,
S LT XISC, Romdd b FRIFHE & ASTANRE L 24,
L BRLO®EHT LAY LA—SAO ETEET, LAl MLBYHELEF.

+ In this case,after seam formation of first stitch, upper therad tail has to be nipped by upper thread nipper with
very short condition. Also, if this nipped condition was too short, upper thread comes off from upper thread
nipper and sewing-in of upper thread fail is not done properly.

1. Adjust upper thread pulling amount by loosening screw @ and by moving upper thread take-up lever guide @
up/down.

B. FRA TLRBENDI XL EBTAFNLEVES FICEAAATHRVEE 22mm T TEAELET.)

B. In case sewing-in of upper thread tail is not done properly (this case is used when sewing
jength is less than 22 mm and especiaily in case of front knife},

" ' A

I%i#/Upper thread tail
ELViong

1$tH OV BEES., LRAOPAIZL > TERMERADPATHRITRIZR) EEA,
L HRLOZz®2HTERRYLA-FRNOZLTESET, ERROVHLEZRELI T,
* BEBE, AL LRmEURLETLLENHD T,

= After seam formation of first stitch, upper thread tail has to be nipped by upper thread nipper with long
condition. '

1. Adjust upper thread pulling amount by loosening screw @ and then, by moving upper thread take-up lever
guide @ up/down.
* After sewing, it is necessary to cut extra upper thread tail manually.

— 13— Model No.DH4-BOS0-04



FETE— FOELVS,. Using the manual mode

TJO7TLES
PROGRAM NO.
=) )
)
O —wep
L Em
Hr ol R
O TI0TS, . MANUAL
RS grae TS
O roviie RAM O FRoGRAM

= o
o o

1., e FEBAA v F @ EMMLT, T—F% [FH] CWhHwz T,
HBERREBQ I “B-O0" FErEhFd. (OOIE Y #E)

2, HMZAA v 7@ MWL T, HMAITHED T,

3. AF—1PRAvFOEMLET, BVEORBHBVETTEH LI,
WA AROR R AITEMEL T3,

4. L7 —-V @2 FRCHELIY. LMCERHLTEV G OFROBRVEICBH L 5.
HE) LMY @2 MRS Es L, BVEOBEHIA Iy ¥ Thal b 7.
RRPTEVEO ALy PMEBIZELWESIL.

1) EEELAf vTFOFHLTT,
2) Vv A4 v F@EMLES, Aty MuBICRD T,

5. P77V @%EL. BRI TRTISE, 7B TT,
i) L7 —) @o5ME 77— ) hN—DWRECEDET T,

6, AF— P24 v FOEMHLIT. ZVEO. THRUD, GHPIZOEHEL T VA7 v 7THBICITRVET,
M A REOHR A ANHELET,

1. Press the MODE button @ to switch to manual mode.
* *H-[J[]" will appear in the front panel display &). ([J] represents the number of stitches remaining.)
2 . Press the cloth presser switch @. The cloth pressers will be lowered.
3. Press the start switch €. The feed bracket @ will move to the sewing start.position.
* The knife will operate only when cutting before sewing has been selected.
4 . Turn the upper shaft pulley @ toward you to rotate the upper shaft until the feed bracket €@ has moved to
the next sewing position.
Note: If the upper shaft pulley @ is turned in the wrong direction, the feed bracket timing may become
disrupted.
* To return the feed bracket @ to the cloth setting position while sewing:
1) Press the EMERGENCY STOP switch ©.
2) Press the RESET button @.The feed bracket @ will return to the cloth setting position.
5. Tum the upper shaft pulley @ toward you until the last stitch has been sewn. The buzzer will sound.
Note: Check that the mark on the upper shaft pulley @ is aligned with the notch in the pulley cover.
6. Press the start switch €. Feed bracket @ movement, lower thread trimming and material pressing
operations will be carried out for each step.
* The knife will operate only when cutting after sewing has been selected.

— 14— Model No.DH4-B980-04



PARTS LIST



A. E%DH»AEB /Upperthread nipper device

118-980-407

-1-



A, E%DH» #EE / Upper thread nipper device

-2-

REF.NO CODE Q1Y [ NAME QF PARTS RMY
1 S41414001 NP Ar i O A RV B/ ] UPPER THREAD CLAMP ASSY
1-1 541415001 HEE RN E A = UPPER THREAD CLAMP SUPPORT
1-2 541416001 NP bYHEL)EYHT UPPER THREAD CLAMP CYLINDER SUPPORT
1-3 018400836 2| FFFEN4XB BOLT, SOCKET M4X8
1-4 028040242 PATAC Sl F SN VWASHER, SPRING 2-4
1-5 541417001 2| LY BELFA UPPER THREAD CLAMP FULCRUM (A)
1-6 06918000 ZlEZANTYLY BUSH BMO&(O5FD
1-7 018400836 d|7+HEN axs BOLT, SOCKET M4X8
1-8 541418001 1o 71 YAhEVF B UPPER THREAD CLANP FULCRUM (B)
19 S41419001 192 Y HELFTY UPPER THREAD CLAMP FULCRUM SHAFT
1-10 014400532 1|7+ #324x5 SET SCREW, SOCKET (CP) M4X5
1-11 048040342 1| b A7E4 RETAINING RING, E4
1-12 025060236 1lesyHEFads WASHER, PLAINM 6
1-13 541420001 RS E¥ 0 & 72 THREAD CLAMP GUIDE SHAFT
1-14 S41421001 NAbYhIoE THREAD CLAMP ASSY
1-14-1 S41422001 11 hYyHIA THREAD CLAMP (A)
1-14-2 S41423001 11T h¥hHEB THREAD CLAMP (B)
1-14-3 S41424001 Hes%Lni-F QOPENER LEVER PIN
1-14-4 048020342 | 2{F A JE2 RETAINING RING, E2
1-14-5 $41425001 S S E ETAL 3 THREAD CLAMP SPRING
1-15 (62300612 2iF+~03%6 SCREW, PAN M3Xé
1-16 541426001 RSV -Ed & UPPER THREAD CLAMP SUPPORT
1-17 541427001 MNP YHIESH LR THREAD CLAMP CPENER LEVER
1-18 541424001 1S & LN-EL OPENER LEVER PIN
1-19 048020342 2| A7E2 RETAINING RING, E2
1-20 018300836 1|7##I 38 BOLT, SOCKET M3X8
1-21 021300206 12323+ 3 NUT, 2 M3
1-22 541428001 P VS B AV ok CYLINDERSET PLATE
1-23 018400836 2| 7HEN b axs BOLT, SOCKET M4X8
1-24 025040233 2IES¥HxFaids WASHER, PLAIN M 4
1-25 541429001 1M4F$VAT VYL HHHT CHANGEOVER CYLINDER SUPPORT
1-26 541430001 1ALl -G HT % CAM LEVER SUPPORT PLATE
1-27 541431001 1HLlLI—HHT 2B CAM LEVER SUPPORT PLATE
1-28 018400836 2|7+#HEr b axs BOLT, SOCKET MA4X8
1-29 025040233 2esvHrFrasa WASHER, PLAIN M 4
1-30 541432001 IR E - ek A VAt THREAD CLAMP GUIDE CAM
1-31 $34922101 HEPESI SHOULDER SCREW, M4
1-32 541433001 1FUATHLLIS—HKE THREAD CLAMP GUIDE CAM SPRING
1-33 541434001 1esfLit—nx OPENER LEVER SPRING
1-34 112301001 1|5 % %318 SHOULDERSCREW, M3.18
1-35 018401636 5|7+#M0 bax16 BOLT, SOCKET M4X16
1-36 021400216 5j222+Y b4 NUT, 2 M4
1-37 018501636 2|7 n Foxis BOLT, SOCKET M5X16
1-38 $41435001 130 A16X157 2 CYLINDER 16X15 ASSY
1-38-1 512150000 2% — R T HM-5HL-4 TUBE ELBOW, M-5HL-4
1-39 541436000 1|7 —R—4X2.5-26 AIR TUBE 4X2.5-26
1-40 541437001 113U 415X57 % CYLINDER 15X5 ASSY
1-40-1 512150000 1|# — 2T NFEM-SHL-4 TUBE ELBOW, M-5HL-4
1-41 S41438000 1|7 — & Zax2.5-27 AIRTUBE 4X2.5-27
1-42 525664000 1]a— FHL s #6 CORD HOLDER, 6N
1-43 025060236 MHes¥H2rFarse WASHER, PLAIN M 6
1-44 062401416 1|+ ~248%14 SCREW, PAN M4X14
1-45 504557000 4|7t %2 1 PLTIM BAND, PLTIM
1-46 541439001 1reninzvos s TCVALVESET
1-46-1 541440001 1{reings z TC VALVE ASSY
1-46-1-1 $39116000 1130 FvQz11515-5 VALVE, VQZ11515-5
1-46-1-2 539115000 1730 FVQZ1151-5 VALVE, VQZ1151-5
1-46-1-3 140682001 1HT Lt SILENCER
1-46-1-4 501522000 1n—7a=+> HALF UNION

118-980-407




A. E%D» »4&E /Upper thread nipper device

118-980-407



A. ERDH H B/ Upper thread nipper device

REF.NO. CODE |[qQ'TY ErXq NAME OF PARTS RMY
1-46-1-5 153274001 2l1Br e CAP, 1/8
1-46-1-6 S04897000 1175%a PLUG, 4
1-46-2 541441001 1rersngruvsrs VALVE SET PLATE
1-46-3 018503036 2|7+ #5230 BOLT, SOCKET M5X30
1-46-4 028050246 2|52 Hx2s WASHER, SPRING 2-5
1-47 032422003 2+ v AE7 2T 2120 WOOD SCREW, ROUND M4.1X20
1-48 541442000 1|T 7 - — ZX6xX4-28 AIR TUBE 6X4-28
1-49 501522000 1|n-7a=+> HALF UNION
1-50 $41443000 1| Fn—%2 VALVE HARNESS
1-51 $41444001 IAVE RSP YA NEEDLE ROTATION COVER (A)
1-52 $41445001 GAVE RS T Y. NEEDLE ROTATION COVER (B}
1-53 018400832 1|7 +HEN b axs BOLT, SOCKET M4X8
1-54 $41446001 1YAIHHTERRR PICK-UP TYPE SPRING
1-55 $41447001 2% BT L—nr2 SELECTOR LEVER SPRING
1-56 $05356000 MEEPET S I BUTTON PRESSER, A
1-57 - S41451001 U7t bty HHT NEEDLE THREAD PRESSER SUPPORT
1-58 - 541452000 1|21 tar4z1% NEEDLE THREAD PRESSER PLATE
1-59 ~ 062350516 2|#~235x5 SCREW, PAN M3.5X5
1-60 $43101000 1T P—+—24X25-29 AIRTUBE 4X2.5-29

118-980-407




